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Job 41299: Cloud charge shapshots
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Job 41299: Cloud charge shapshots
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Job 41299 Cloud charge shapshots
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Job 41299: Fitsto cloud charge X distribution
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Job 41299: Fitsto cloud charge X distribution
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Job 41299: Fitsto cloud charge X distribution
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Job 41299: Fitsto cloud charge Y distribution
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Job 41299: Fitsto cloud charge Y distribution
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Job 41299: Fitsto cloud charge Y distribution
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Job 41299: Fitsto cloud charge Y distribution
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. Field Gradient dE, /dX (V/m’)
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: 50 Central Density (10" m™)
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: 50 Central Density (10" m™)
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: Beam-weighted Density (10 m®)
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: Beam-weighted Density (10 m®)
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: Beam-weighted Density (10 m®)
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: Beam-weighted Density (10 m®)
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